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Division Word Problems

(Grade-2)
Do the following problems:

1. Smiley has 14 apples. She wants to share them equally among 2
friends. How many apples will each friend get?

2. A farmer has 92 eggs. He wants to pack them into cartons, with
each carton holding 12 eggs. How many cartons will he fill, and
how many eggs will be left unpacked?

. Amelia has 36 pencils. She wants to put them into pencil cases,
with each case holding 6 pencils. How many pencil cases does she
needs?

4. There are 28 students in a class. If they are seated in rows with 7
students in each row, how many rows are there?

5. Emily has 48 stickers. She wants to share them equally among 6
friends, but she also wants to keep 4 for herself. How many
stickers will each friend get?
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6. There are 56 marbles. If they are packed into jars, with each jar
holding 8 marbles, how many jars will be filled, and how many
marbles will be left over?

7. There are 18 candies in a bag. If they are distributed equally
among 3 children, how many candies will each child get?

8. There are 63 students going on a field trip. If they need to be
divided into buses with 9 students in each bus, how many buses
will be needed?

9. Jamie has 49 colour pencils. He wants to divide them equally into
7 pencil cases. How many colour pencils will be in each pencil
case?

10. A spaceship has 56 astronaut helmets. If they are packed into
boxes, with each box holding 8 helmets, how many boxes will be
filled, and how many helmets will be left over?
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